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no - they have the same index

it will change speed (and therefor refract) a lot

it will not change speed or refract) much

average frequency of visible light - each frequency has a slightly different index

Low to High - bends toward normal

High to Low - bends away from normal
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1.33

Because one part of the incident wave 
changes speed before the rest of the wave

Wavelength decreases, speed decreases, frequency 
remains the same, period and phase remain the same
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diamond?

diamond?

the separating of white light into its component colors due to refraction

bends least

bends most

range of indices of refraction 
for different colors

RED RESISTS REFRACTION
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the complete reflection of light at a boundary – no refraction

ray of light must be traveling from the more  optically 
dense to the less optically dense medium

ray must strike the boundary at an angle 
greater than the critical angle

angle of incidence for which the angle of refraction is 900


